HIGHWAY PEG MOUNT
Catalog # 08-643

Fits front engine guard with 1-1/4” tubing.
Works with all H-D style male-mount footpegs.

NOTE: Use blue loctite on all fasteners.
1. Tighten 3/8” bolt 1st to obtain flush fit.
2. Tighten 5/16” bolt 2nd, gap provided for max. clamping force.

Footpeg Installation

Uses stock footpeg spring (OEM # 50912-74). Provided with brackets.

Blue Loctite 3/8-16 flat head screw.
VERSION

GAP — |-

Use 7/32” allen wrench O O

Pegs can be rotated 360° STANDARD
5/16” BOLT :

{
1-1/8” —
| (7 )
A £
= | T
FOOTPEG SERRATED
SPRING WASHER FLUSH

MADE IN THE USA 040508 D 1/28/2016

HIGHWAY PEG MOUNT
Catalog # 08-643

Fits front engine guard with 1-1/4” tubing.
Works with all H-D style male-mount footpegs.

NOTE: Use blue loctite on all fasteners.
1. Tighten 3/8” bolt 1st to obtain flush fit.
2. Tighten 5/16” bolt 2nd, gap provided for max. clamping force.

Footpeg Installation

Uses stock footpeg spring (OEM # 50912-74). Provided with brackets.

Blue Loctite 3/8-16 flat head screw.

Pegs can be rotated 360° STANDARD
VERSION @
5/16” BOLT

GAP —->||<-—

Use 7/32” allen wrench O O

e AN
I D

FOOTPEG SERRATED
SPRING WASHER FLUSH

MADE IN THE USA 040508 D 1/28/2016

3/8” BOLT

3/8” BOLT

Joker

MACHINE

Tools needed:
1/4” allen wrench
5/16” allen wrench
7/32” allen wrench
Blue Loctite

Torque Specs:
3/8”-16 socket head: dry 49 ft-Ibs, oiled 39 ft-Ibs
5/16”-18 socket head: dry 29 ft-Ibs, oiled 23 ft-Ibs

EXTENDED
VERSION

5/16” BOLT —{|--GAP

3/8” BOLT

Use 7/32” allen wrench
3-1/8”

FLUSH
3/8” BOLT —
3 N
R
SERRATED FOOTPEG
WASHER SPRING

Joker

MACHINE

Tools needed:
1/4” allen wrench
5/16” allen wrench
7/32” allen wrench
Blue Loctite

Torque Specs:
3/8”-16 socket head: dry 49 ft-Ibs, oiled 39 ft-lbs
5/16”-18 socket head: dry 29 ft-Ibs, oiled 23 ft-lbs

EXTENDED
VERSION

5/16” BOLT —4}-6aP

3/8” BOLT

Use 7/32” allen wrench
3-1/8”
FLUSH
3/8” BOLT — ~
3 N
- &)
L —
SERRATED FOOTPEG

WASHER SPRING



